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1. Identify the property by which the two given triangles are congruent
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(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency

2. ldentify the property by which the two given triangles are congruent
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(i) SAS Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency

3. Identify the property by which the two given triangles are congruent

(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency

4. |dentify the property by which the two given triangles are congruent
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(i) RHS Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) ASA Congruency



5. Which of the following are true?

a) Any two squares are congruent.
b) Any two squares are similar.

) Any two triangles are congruent.
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d) Any two circles are similar.
e) Any two triangles are similar.
f) Any two circles are congruent.

(i) {a,b} (i) {b,d} (i) {a,d,b} (iv) {c,d} (v) {efb}

6. Which of the following are true?

a) A circle is a polygonal region.

b) A semi-circle is a polygonal region.
c) A sector is a polygonal region.

d) A triangle is a polygonal region.

e) A square is a polygonal region.

(i) {c,a,d} (ii) {b,ed} (ii) {d,e} (iv) {b,e} (v) {a,d}

7. Which of the following are true?

a) If two figures are similar, then they are congruent too.
b) Congruent figures have same area.

d) Similar figures have same area.

)
)
c) Similar and congruent are not synonymous.
)
e) If two figures are congruent, then they are similar too.

(i) {a,b} (i) {d,c} (i) {a,d,e} (iv) {a,b,c} (v) {b,c,e}

8. Which of the following are true?

a) Area of the union of two polygonal region is the sum of the individual area.

b) A polygonal region can be divided into a finite number of triangles in a unique way.

c) Area of a convex polygonal region is equal to the sum of the areas of all triangles formed by joining the vertices
of the polygon with an interior point.

d) Area of the union of two polygonal region is not equal to the sum of the individual area.

(i) {a,b,c} (i) {a.d,c} (i) {cd} (iv) {a,c} (v) {b,d}



9 In the given figure, points H, | and | are the mid-points of sides FG, GE and EF of AEFG. Which of the following are
" true?

) 1
Area of trapezium FGlJis 2 the area of AEFG
b) All four small triangles have equal areas
C) 1
Area of AEFG = 3 area of AHIJ

d) Area of AEFG = 4 times area of AHIJ
e) Area of trapezium FGl] is thrice the area of AEJI
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(i) {a,ce} (ii) {ab,d} (iii) {b,d,e} (iv) {a,b} (v) {cd}

10 In the given figure, points ] , K .and L are the mid-points of sides HI, IG and GH of AGHI. Which of the following are
" true?

a) AGLK = AJLK
b) ALHJ = AJKL
) AGLK = AJKL
)
)

(@]

d) ALHJ) = AGLK
e) AGLK = AKJI
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(i) {a,b} (i) {a,c} (ii) {b,c,d,e} (iv) {a,eb} (v) {a,d}

11. In the given figure, which of the following is true?
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(i) AFGH = AUVW (ii) AGHF = AUVW (iii) AFGH = AWUV (iv) AFGH = AWVU (v) AFGH = AVWU
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In the given figure, AFGH = ASRQ. Which of the following are true?

a) LH = £Q
b) GH = SR
c) GH=RQ
d) £LG = LR
e) LF = £LQ
Q
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(i) {e,c} (i) {a,cd} (iii) {b,a,c} (iv) {b,a} (v) {b,ed}

In the given figure, AFGH = ATSR. Which of the following are true?

a) LT =83°
b) LT = 54°
c) LS = 83°
d) £S = 43°
e) LR = 43°
f) LR =54°
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(i) {a,b} (ii) {fae} (i) {b,c,e} (iv) {d,c} (v) {d,b,c}

In the given figure, ABCD = AQRS. Which of the following are true?
a) QR =12 cm
b) SQ=11cm
c) SQ=14cm
d) RS =14 cm
e) RS=12cm
f) QR =14 cm
5
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(i) {c,b,e} (i) {b,ef} (ii) {c,e} (iv) {d,af} (v) {a,b}



15. In the given figure, which of the following is true?
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(i) ACFE = ACDE (ii) ACEF = ACDE (iii) ACEF = ACED (iv) ACEF = AECD (v) ACFE = ADEC

16. With the data in the given figure, AHIK = AHJK by which property?

K>I

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) not congruent (v) RHS Congruency

17. With the data in the given figure, AOGF = AOED by which property?
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(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) SSS Congruency

18. With the given data in the figure, AONQ = APMQ by which property?
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(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) SSS Congruency

19. With the given data in the figure, AEFG = AGHE by which property?
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(i) not congruent (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency



20. With the given data in the figure, AABC = ADCB by which property?
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(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) not congruent

21. With the given data in the figure, AQI} = APJI by which property?
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) SAS Congruency (v) ASA Congruency

22. With the data in the given figure, ABEO = ACDO by which property?
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(i) SSS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

23. With the data in the given figure, AEHG = AEFG by which property?
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency



24. With the data in the given figure, ASNO = ARON by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) RHS Congruency

25. With the data in the given figure, APCD = AQDC by which property?
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(i) SSS Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) not congruent (v) ASA Congruency

26. In the given figure, AKlJ is an isosceles triangle. HL L 1) passing through K. AHKI = AHK] by which property?
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(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

27. In the given figure, EFGH is a square and ATEF is an equilateral triangle. ATHE = ATGF by which property?
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(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) not congruent



28. With the data in the given figure, AEFH = AEGI by which property?
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(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

29. With the data in the given figure, ABEC = ABED by which property?
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(i) SSS Congruency (ii) not congruent (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency

30. With the data in the given figure, AHJI = AIKH by which property?
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

31. With the data in the given figure, ABCF = ABDE by which property?
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(i) not congruent (ii) RHS Congruency (iii) SSS Congruency (iv) SAS Congruency (v) ASA Congruency



32. In the given figure, AlJK is an obtuse angled triangle. AlJL = AKJL by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) not congruent (v) SAS Congruency

33. With the data in the given figure, ADOE = ADOF by which property?
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(i) not congruent (ii) ASA Congruency (iii) SSS Congruency (iv) SAS Congruency (v) RHS Congruency

34. With the data in the figure, ALOM = ANOM by which property?
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

35. With the data in the figure, AHKI = AHKJ by which property?
H

(i) SSS Congruency (ii) not congruent (iii) SAS Congruency (iv) ASA Congruency (v) RHS Congruency



36. With the data in the figure, ACFD = AEFD by which property?
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(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) ASA Congruency

37. With the data in the figure, ALMO = ALNO by which property?

L
o '\\¥
M N

(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

38. With the data in the figure, ABEC = ACDB by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) not congruent

39. With the data in the figure, ACFD = ACFE by which property?
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(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) SSS Congruency




40. With the data in the figure, AHOI = AKOJ by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency

41. With the data in the figure, AGH] = AHGI by which property?
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(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent

42. With the data in the figure, ADFG = AFDE by which property?
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(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) ASA Congruency

43. With the data in the figure, ACFD = ACFE by which property?
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(i) not congruent (ii) SSS Congruency (iii) SAS Congruency (iv) RHS Congruency (v) ASA Congruency

44. With the data in the figure, ADGE = AEFD by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) ASA Congruency



45. With the data in the figure, AEOF = AGOH by which property?
H G

E F

(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

46. With the data in the figure, ADOE = AFOG by which property?
G F
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(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

47. With the data in the figure, AlJL = AJIK by which property?
H
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(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

48. With the data in the figure, AJKM = ANLM by which property?
J

(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent



49. With the data in the figure, AKLN = AMLN by which property?
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(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency

50. With the data in the figure, AlJM = AJIN by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) ASA Congruency

51. With the data in the figure, AGI) = AGIH by which property?
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

52. With the data in the figure, AGKJ = AHKI by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) not congruent (v) SAS Congruency



53. With the data in the figure, ALMP = ALNQ by which property?
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(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) ASA Congruency

54. With the data in the given figure, AOPR = AQPR by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

55. With the data in the given figure, ANOQ = AONP by which property?
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(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

56. With the data in the given figure, AMNP = AOPN by which property?
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(i) SAS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) RHS Congruency



57. With the data in the given figure, APQS = ARQS by which property?
R

P Q
(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

58. In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
figl fig 2

(i) fig4 (i) fig2 (i) figl (iv) fig3



59. In the given figure, which pair of triangles are not congruent ?
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fig 1 fig 2
(i) fig1 (ii) fig2 (iii) fig4 (iv) fig 3

60. In the given figure, which pair of triangles are not congruent ?
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figl fig 2
(i) fig1l (ii) fig4 (iii) fig3 (iv) fig2



Assignment Key

1) (iv) 2) (iv) 3) (iv) 4) (i) 5) (ii) 6) (iii)

7) (v) 8) (iii) 9) (iii) 10) (iii) 11) (i) 12) (ii)
13) (iii) 14) (ii) 15) (iv) 16) (v) 17) (i) 18) (iii)
19) (v) 20) (i) 21) (ii) 22) (v) 23) (v) 24) (v)
25) (ii) 26) (v) 27) (i) 28) (iii) 29) (i) 30) (ii)
31) (ii) 32) (iii) 33) (i) 34) (v) 35) (ii) 36) (ii)
37) (i) 38) (v) 39) (ii) 40) (iii) 41) (v) 42) (ii)
43) (i) 44) (iii) 45) (iv) 46) (i) 47) (i) 48) (v)
49) (i) 50) (iv) 51) (v) 52) (iv) 53) (ii) 54) (v)
55) (ii) 56) (ii) 57) (ii) 58) (ii) 59) (iv) 60) (iii)
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